This Question Paper consists of 36 questions including 4 figures and 11 printed pages + Graph sheet.
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Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and total number of questions
contained in the Question Paper are the same as those printed on the top of the first page.
Also check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given
in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book
given to you.

All the questions including objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other
than the specified places will lead to disqualification of the candidate.

Write your Question Paper code No. 52/ AS/4-A on the Answer-Book.
(@) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.

AT RRATTADAIVTERWAW 1 conta...

—



W 3T

1.

2.

52/AS/4-211-A |

Thenefl T9TA % Rl IS W STUAT ST IS 31w ford |

FUIT IS I W o R T F F Yot a° T bl SaHl & He § A gud I % ged
IR U T 139 91w S o I oA o 7 wiAw w9 H €

ST Ue § SRl IR faswed (A), (B), (C) @ (D) ¥ | @i Wah SW g1 € 9 & T8
SR ¥ 319 92 S| fafau |

TS TS & WY-Tg Gl gl o I ifRa oTafy Ffa & < T | I ueHl o fore etem
Y Try el fea S |

IW-qfedert H qgaH-fag oaam Ao ffde wrl & sifafted w2l ot stgshdier forem o adaneff
1 ST A ST |

ST IT-GRsh! W JeT9= &t hie den 52/ AS/4-A fog |

(F) !;ﬂﬂ?{ﬁﬁlﬁ%ﬁ/@?ﬁﬁ%l TRe o, =ife e =e ot < & S TRl Tk Ao H ST S Wehd
stirstt, &, <<, woeh, ovTen, affe, o, wee, I, NIST, Sfedl, TeRT, ik,
FU SR-Yrah B fou Tu St H ford for o1 fhm v 7 s form w@ €

(@) afe a9 &<t wd st o stfafted fordt o= v # SR forad € O 999 6l 9o | 29 ool

Ffedi/Tafal st SR hae STdeh! B8R |

N

AT RRATTADAIVTERWAW 1 conta...



Time : 2%2 Hours |

T ; 2V, HUS ]

MATHEMATICS
(TIfuTa )
(211)

[ Maximum Marks : 85

[ quiish : 85

Instructions : (1)

52/AS/4-211-A |

Question Numbers (1 - 10) are Multiple Choice Questions. Each question
carries one mark. For each question, four alternative choices A, B, C and D
are provided, of which only one is correct. You have to select the correct
alternative and indicate it in the answer-book provided to you by writing
(A), (B), (C) or (D) as the case may be. Q. No. 11 to 15 also carry one mark
each.

Question Numbers (16 - 25) carry 2 marks each.
Question Numbers (26 - 33) carry 4 marks each.
Question Numbers (34 - 36) carry 6 marks each.

All questions are compulsory.

¥ HEAT (1 - 10) Tk agfashed! 99 (Multiple Choice Questions) R DER I
Teh 37 1 8 | &% I § =R fasheyq A, B, C a1 D fed M4 €, 5 9§ et &
T2 T | ATYeh HET faehed AT B A1 e W o S STOT IR Rkasht | (A), (B),
(C) 1% (D) STt ot Teurfat 1, foreet S €1 e e 11 9 15 +ff T 37
&

¥ GE&T (16 - 25) TF T U9 & 2 3 & |
I GE&AT (26 - 33) TF YA U & 4 3F |
I HEAT (34 - 36) T TAF T F 6 3k T |

[t g9 Sfear § 1
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1. Which of the following is not a rational number ? 1

frefafea 9 & &F 9T gen 76 2

2y 4
- %
(a) -5 (B) ( g] © 3 D) (3)%
2. If x=11is a zero of the polynomial f (x) =x>—>5x +k, then the value of k is : 1

G x=1 9IS f () =22 —5x +k I IYAH ¢, MK AA T :

(A) -6 (B) -4 ©) 4 (D) 6

3. HCEF of two numbers is 3 and their LCM is 21. If one number is 7, the other number 1
is:

T Hemsli H1 HH. 3% iR AF W, 2171 9w dem 7 T, @ qud Hen ¥

(A) 1 (B) 3 ) 7 (D) 9

4. 15% of a number is 270, the number is : 1

Teh T 1 15% Afg 270 ®, O G&AT ® -

(A) 1500 (B) 1800 (©) 2100 (D) 2700
5. In a plane the point equidistant from vertices of a triangle is called its : 1
(A) Centroid (B) Incentre
(C) Circumcentre (D) Orthocentre
T B e & <A1 sl & gogees fog weam €
(A) H=H (B) fa:%=
(C) ufeh= (D) waH=

=
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6.  Which of the following statements in not true ? 1
(A) all rectangles are squares
(B) rhombus is a parallelogram
(C) sum of interior angles of a quadrilateral is 360°

(D) square is a rhombus
Frafafad wedl 9§ | SA-W FHoF T T4 © 2

(A) Tt T o 2 €

(B) THEIHS T HIR IgYS a1 7 |
(C) =gy & 1= DIV 1 AT 360° Bl T |

(D) =t Tk TS B R |

7.  Number of tangents drawn to a circle from an external point is : 1

forelt sy forg 9 Weh g W Eii ST el Tast Yt #i g9emn ©

(A) 0 (B) 1
© 2 (D) 3
8.  One side of a parallelogram is 15 cm and its corresponding altitude is 5 cm. Area 1

(in cm?) of the parallelogram is :

TRl R Sqs 1 TH S 15 AL q1 Wd s 5 AL T T FHRR Fgys
A% (T AL H) T

(A) 75 (B) 37.5

(C) 20 (D) 10

a1
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9.  In the figure given below, AABC is right angled at B. Which of the following is true ? 1
o & emhfa §, AABC H &Iv1 B ggapur ¥ 1 Frafafed & @ e 9 €2

24 cm fﬁ"ﬂ

A Fem ,-"ﬁiﬁ_ B

25 7
1 C = — 1 C = —
(A) s 7 (B) s 5
24 7
1 C = — 1 C = —
(C) sin T (D) sin o
10. If sin (A +36°)=cos A, where (A +36°) is an acute angle, then value of A is : 1
A sin (A +36°) =cos A, S (A +36°) Tk = HI0 &, T A H TH T :
(A) b54° (B) 27° C) 2r1° (D) 18°
-2 -9 2x+1
11. If (ij + (Ej = (i] , Find the value of x. 1
13 3 13

afe ( 3 j_z - (Ej_g = (ETM, T x 1AM H1G HIFT |

13 3 13
12. Write 0.06 as a percent. 1
0.06 = 9faerd & &9 H fafEw)
13. In the figure given below, find x. 1
= < 3Tpf H x 1 W A1G i |

=)}
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14. In the figure given below, AB is the diameter of a circle with centre O. Find ZBDC. 1
= <t oTRfd H, AB T 99 &1 A9 § W % O W B £BDC 91 SHifS |

@i
1200
AkEE;ZéijB

D

15. Find the volume of a hemisphere of radius 21 cm. 1

21 9.1, 51 & 27t A1 37Fa J1d hifeid |

16. The first term and common difference of a A.P. are —5 and 4 respectively. Find the 2
sum of the first 40 terms of the A.P.

T THTR J& 1 JUH TS e GrEsT<l hAY: —5 34 €| 30 HIR 9E1 & 949 40 I
T 1 i |

17. A retailer buys a cooler for ¥ 3,800 and spends X 200 on its transport. If he sells the 2
cooler for X 4,400, determine his profit percent.

T Feaht foshdl T Fer ¥ 3,800 H Tiedr © 3R 38 oM & fa 3 200 7167 w1 & &9 H @
FHIA T IS T IH Hel FIT 4,400 H =T €, 1 ST A1 Ffawrd 1 hifad |

18. In the figure given below, if AP=x+1, BP=x+2, CP=x and DP=x +4, find the value 2
of x.

i <t orpfa H, afg AP=x+1, BP=x+2, CP=x 3R DP=x+4, A x 1 AF J1d Hife |

A
D
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19. In a AABC, AB=AC and AD is the altitude from A to BC. Prove that BD=DC. 2

T s ABC ®, AB=AC 91 AD, A ¥ BC R el T ¥ o9 ¥1 fag sifse fh
BD=DC.

20. Find the co-ordinates of the point which divides the line segment joining the points 2
(—2,3) and (5, —6) in the ratio 2 : 1 internally.

T T fag & fceie 9 wifse st fagsll (-2, 3) 3R (5, —6) F1 foam ol W@Ee &
2:1% o U | fawfea < g1

21. Find the perimeter and area of the sector of a circle of radius 14 cm and central angle 2
30°.

T T Feage &1 uim iR aea 9 sifee St 14 .. oo & g9 # o gen ® oI

SRt g I= hI01 30° § |

22. Prove that: 2

g whife fon

cos*A —sin*A =1 —2sin2A.

23. Evaluate : 2

M J1d HIT

tan7°. tan23°. tan67°. tan83° — sec245°

24. If the data 50, 42, 35, 2x +10, 2x, 18, 12, 11 is written in descending order of magnitude 2
and its median is 25, find the value of x.

afg SRS 50, 42, 35, 2x+10, 2x, 18, 12, 11 3T %9 | for@ gu ¥ iR a1 Weas
25 %, @ x 1 TH 1A hifoTT |
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25.

26.

27.
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Construct a frequency distribution table from the following data :

cumulative
Xi

frequency
0-10 3
10 - 20 15
20-30 51
30-40 127
40 - 50 224

frfafaa el ¥ Tk SRARAT sied TR it AT HIfS

Xi GerEt SRERAT
0-10 3
10-20 15
20-30 51
30-40 127
40 -50 224

Solve the following system of linear equations graphically.
frefefaa Wae Tt e 1 sterea fafy § g it
x—y=7, x+y=>

OR/319raT
(For visually impaired learners only)

(Shaet gite faerenn faenfiar & fom)

Solve the following system of linear equations.

fr=fafaa e aHeRtor e ol g hifse :
x—2y=7, 3x+y=35

Simplify the following into the lowest form: :

frfafea =l =aam ®9 5 Wa i :
x2+x+1; -1
x2 -9 x? —4x +3

]
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28.

29.

30.

31.

32.

A washing machine is available for ¥ 15000 cash or ¥ 2250 cash down payment followed
by two equal half yearly instalments. If the interest charged under this instalment plan
is 8% per annum compounded half yearly, find the amount of each instalment.

T HIS € F A T 15000 e FTAH 312ra T 2250 TRA T iR T8 91 &1 g9M
refenfier foredi § SucTsd §1 Ifc 30 fored i1 & 3T=qiid foTT ST ot =3Tst ki <X 8% anftieh
3R = wfa SHE A 8 §, @ g fohva i uf¥n 9 i

ABC is an acute angled triangle. If ADLBC, prove that AB>= AC?+BC?—2BC.DC.
ABC T& =& fA3s1 €1 e ADLBC, @ f&s ST ff AB2= AC2+BC2-2BC.DC.

Construct a AABC, in which BC=4 cm, ZB=60° and AB—AC=1.2 cm
T AABC &l T&A1 HifSg S&H BC=4 §.H#1. £/B=60° 3R AB— AC=1.2 9.H.
OR/3TeraT
(For Visually Impaired learners only)
( e gtz famretin Faremfoiai 3 Fomy)

Write the steps of construction to construct a pair of tangents to a circle of radius 3 cm
from a point P outside the circle at a distance of 6 cm from the centre O of the circle.

39.H. 5500 o 99 W, I o e I35k ks foig O W 6 WA o1 g R feerd forg P, < oo
@il i A1 & fore, T & ug fafau |

The angle of elevation of the top of a building from the foot of a tower is 30° and the
angle of elevation of the top of the tower from the foot of the building is 60°. If the
tower is 150 m high, find the height of the building.

Tk R & U1€ W Teh Hoid & TIRER 1 o187 101 30° & 991 Wold & Ue § HHR o fIrer 1
FoITT B 60° & 1 Ffe HAR Bl F=mE 150 HieT §, 1 Ho i =1 J1d hITS(C |

Find the mean of the following data :
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Class 150-160 | 160-170 | 170-180 | 180-190 | 190 - 200
Frequency 5 8 15 10 2
1 effenel <1 TTeA F1d HIFT
it 150-160 | 160-170 | 170-180 | 180-190 | 190 - 200
SREAT 5 8 15 10 2
10 IAREETRARRTEREINIARTN ¢ conta..




33.

34.

35.

36.

A bag contains cards which are numbered from 2 to 90. A card is drawn at random
from the bag. Find the probability that it bears :

(i) a two digit number

(i) a number which is a perfect square

Teh o7 H 1S € fS W2 ¥ 90 T Gt 3ifha €1 o | ¥ Tk 1 Argssdn el S €1
yiforehdl J1d Shifsie foh fehTet 7T h1e o

(i) < 3Rl = GE sifed g,
(i) T gl o G SR 7

A girl is twice as old as her sister. Four years hence, the product of their ages (in years)
will be 160; find their present ages.

Th TASH! Dl Y 7T 96 i 3T T AT € | =R I8 Y91 STeh! AT I OGS (6! )
160 BT 1 ST St ST 371 T hifeTT |

If two sides of a triangle are unequal, then prove that the longer side has the greater
angle opposite to it.

Ffg forgt Sy it &1 YT 31EEE §; @ fag Fifew fo o€t oo % 9= 1 i, S o &
A & 0 F IS a1 & |

External radius of a hollow right circular cyhndrlcal plpe is 9 Cm and its length is
14 cm. If the volume of the metal used to make the pipe is 748 cm?, find the thickness

22
of the metal. (’"’ = 7)

T del 19 SRR Wl UIgq i aTel 32 9 4. € 8 SHeh! o 14 4. €1 g
$9 U159 1 SN o T YR i T8 4T 1 TaA 748 o9 9., T, O 91 & AR 94

i = 7
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